Bento Box Looks nice..butisit

the grid we want?

[ X N J Qt Quick "Bento Box"
Show Images Dark . Grid . Align to Grid . Dimensions

margin: 12 .— gutter: 32 . radius: 32 .




Let's make a 12x6
Bento Box Qt Quick Layout:

000 Qt Quick "Bento Box"
Show Images Dark Grid . Align to Grid . Dimensions
margin: 12 .— gutter: 32 . radius: 32 ‘

UICk La\/outs don't 't align as expected!



Now we align to our
Bento BOX “real” 12x6 grid!

'. o Qt Quick "Bento Box"
Show Images Dark Grid Align to Grid . Dimensions

margin: 12 .— gutter: 32 . radius: 32 .

Now cells align exactly where we want!



ento BOX That's better!

So what's different?

[ X X J Qt Quick "Bento Box"

Show Images Dark . Grid Align to Grid

margin: 12 .— gutter: 32 . radius: 32 .

. Dimensions




Qt 12x6 Layouts:
Bento Box The default math...

[ ] Qt Quick "Bento Box"

Show Images ¥l Dark . Grid - Align to Grid Dimensions

margin: 12 .— gutter: 32
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Consider the top row:

maxWidth = 1200

innerWidth = maxWidth -2 * margin =1176
gutterTotal = gutterCount * gutter =96
availWidth  =innerWidth - gutterTotal = 1080
cellwidth = availWidth / columns =90
cellfWidth =3 (columns) * cellWidth =270
cell2Width =3 (columns) * cellWidth =270
celBWidth =2 (columns) * cellWidth

cellZWidth =4 (columns) * cellWidth




Bento Box Our 12x6 Layouts:

The correct math...

[ ] Qt Quick "Bento Box"

Show Images ¥4l Dark . Grid Align to Grid Dimensions
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Consider again the top row (rounded):

maxWidth = 1200

innerWidth = maxWidth -2 * margin =1176
gutterTotal = gutterCount * gutter

availWidth  =innerWidth - gutterTotal

cellwidth = availWidth / columns

cellTWidth =3 (columns) * cellWidth =270
cell2Width =3 (columns) * cellWidth =270
cell3BWidth =2 (columns) * cellWidth
cellaWidth =4 (columns) * cellWidth




ento BOX How to get your

gutters cleaned?

[N ] Qt Quick "Bento Box"

Show Images Dark . Grid Align to Grid Dimensions

margin: 12 .— gutter: 32 . radius: 32 ‘

QML Example (top row, simplified):

GridCalculator { id: gridCalculator;
rows: 6; columns: 12; anchors.fill: parent

}
RowLayout {
LayoutItemProxy { target: boxl
Layout.preferredWidth: gridCalculator.boxWidth(3)

y Layout.preferredHeight: gridCalculator.boxHeight(2) We must CG/CU/ate

LayoutItemProxy { target: box2 4 \
N TR each box size

anoutItemPr‘oxy {. target: bo>.<3 ) USIng a
B f e deiah: : oridcalulcton boxteightl?) convenience item!

}
LayoutItemProxy { target: box4
Layout.preferredWidth: gridCalculator.boxWidth(4)

Layout.preferredHeight: gridCalculator.boxHeight(2)



Bento Box Conclusion: consider

all your gutters!
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margin: 12 .— gutter: 32 ‘ radius: 32 ‘
g 12
270,267 ¢ ¢ [ 169,267 ° /371,2‘
6 - » “‘\ ,' /‘ //\*:/
4 L\/ Y,

Qt Quick Layouts are extremely powerful!

But... Qt Quick Layouts calculate based on
number of humber of cells - 1

Qt Quick Layouts should calculate based on
number of gutters = columns (or rows) - 1




